
����� 	�

%��	���
��& �����"�

������ 	�����( 5������

���� '
>� ”���
�� �$	��	”�

H���
�� � ��K
�
��� ��������� 7��1
���
�
�
�� �
 ��C

 ���	5�
��
� �/ �
1���
��
�
���0 � 1���6�5 ����/ ��2���� ����
�� %�	



�2�0 1������ ���	5�
��
 F���
�
��
G 7��1
���
�
�
�� �
���
C��
���
��

 ���
����
 ���	5��
��2� ��K
�
�� 8��� �� �����	

 ����/
1���
��� 7
��� N �
2��
����� �
�
��	���/ ���
�� F��
����0 �
��

����0 � ���
 �	���
� N �
�
�����G? ���
�
��
 ������ ��1�	��

��

�	��� � ����� 1���
����
�
������
�
���� 
���
 � ���
2��
�������
���
��� 7��1
���
�
�
�� 

 	��� ”����
�C�

”0 	��� ������	���
�
��

 

 ���
����
 ���C
���� .�7
��� ����C
���
 ���
��� �
2��
�
������
� � �1������
� 	
2�
0 �
� �
�
��	���
�

� ����/ ��6�/ �
�
�/0 1�� �
2��
����� ����C
���/ ���
�� 7���
1	��
���5
�� ��	
���0 �������56�
 ��	
��
��
 �����6
��� �
��
��� �	� ��	
��	 �
������� ��
�� 7	
�
���
���� 1�	
� ���C�6
�
2��� ������0 ��
���� ��	���

 ���
���� >
� 7	
�
���
���
 1�	
 ����
��C��

 �	� ��������

 �
��� F��	
��	�G ��
��0 ���1�	�C
���

��	��� 
��
�
���� ���
���� I�0 �
� 1����/���
 ��	

0 ������
 �C


"+,



�
 �����

��2� 
�1� �


�
��� � 
2� �
������� ��
���
I���� �������0 � 	5��� �


�
��
 ��C�� ���
	�
� �
���	���

7	
�
�
��?

"� �
������5 ��
��0 � ��
���� ��	��� 
��
�
���� ���
��� ������
��

 �����6
��
 

 �
���� �	� ��	
��	O

 � 
����1��
��5 ��
��0 ��
�1
����56�5 
����1��
������ ��2�
��	� � �����6
��� � �
2��
����56
�� 7	
�
�
�� � �
��
��
��/ �


�
���/ ��� �
��
�
��

0 ��1���
� N � 1���������/
���
��/0 ���
��/ ��	����� �	� � ��
�7��	����/O � ���2�/ N
��C

 ���1���
� � �
������� ��
��� F��1���
�0 ������� 2��
����� ��
�� 2�����������/ �


�
����G 	��� ���
��
� �� ����
��/ ��
�0 ��	5��� �
������5 F����
�		�������
 ��

���� �
�������������� ��

�������0 ����
�		�������
 ��

���� ��
��
�
�

	��� �1
�
��0 �
�
�������
 ��

���� � 
� ��G�

A� H
2��
����56�� 7	
�
�
0 1�
������56�� 1
�������	����
��2��	 � �����6
��� � �
��
���
 ��������1��
���
 �����6
�
��
 ���2�2� ����0 1����56

�� ������C
��5 � �������� ���
����
�
� >
� 1��	
��

 ��C

 ��
� �
����������
�5 � ��
�

F1����
� 1���0 
�	� �
������� ��
�� N C�����
�0 ��1
	��� N

�	� ��
�� N 1��0 �
��� �
�
��� � ��
�7��	���� 1��	
 1�����
	
���G0 �	� 7	
�
���
���� ��2��	�� F�
 ��
��


�
��� �	�
�
 7	
�
���
���2� �������G0 ��

���� ��2��	�� F�
 7	
�
���
�
���� ����� �	� �
���
��G � 
� ��

B� ����1�

	�0 2�
 /����
�� ���������� � 1���
����
�
���� 1��
	�C
��� �
2��
����56
2� 7	
�
�
� � � /����

�
 ��2��	�0 ��
���
2��
���������2�� ����1�

	� ���������� ��C

 ���1��
��
� � �
������� ��
��� F���
���9
��� 1��	
 ������
��0 ���
��
�7��	����G �	� �
 ���1���
� � �
� F��1���
�? ��
�1	
���
N � �	���
 1���������/ ���
�0 1���
� �������2� ��
��11��
��
�0 �1
���	����������
 7	
�
�����
 ����	�0 ���1�5

����
1���
� � 
� ��G

.��
�1��9�� �
 �


�
���� ���������� ������
���

�� ��	


� �
	�5 �����	

 1�	��� �
����
������ ����
�� � ���

�
 �


��

���� � ���	
�
��� �����
���� ����������� >
�
 7
�1 � ����
�
��
��/ 7��1
���
�
�/ ���
�
���� �	�

	���� � 
����
����0 ���
�9
��
�� �
���	���� �
� ��1�	�������� ����
�
���� ���1�5

���� 

/�
����0 ���
�
���� ���6�
���2� 1��2������2� ���
���
�
���� � ���
���	�

	���/ 1���
����

"+*



$�������
��
 �


�
��� F2������1�0 1��1�������	���
 �	�
��
�����
 ���
��0 1�	�1�����������
 �


�
���0 2����	�������
��
 ��	����

�� � 
� ��G � 1
���5 ��
�
�� ����6�5
 ��� � 
��0
!�� 1��9	� ���
��� F��� 1����	�0 ����C
����G� �� �
��� �1����
�
���
���0 �1�
�
	�� 

 �
����
�0 ��C�� ��1�	��

	���� ��������
��� � �
�� �	� ����C
���/ ���
�� 1�	���
� 7
� ��
�
��� �
 �	�9�
��� �	�C��� .� ��6
�
��0 ��C�� ����0 	��
��� � ��2��
� ;���
2�� 1�	
�
� ���
�������� ”
�����” �U�	� ”
�	�
��” ��	����

�
� ”

����

���” �	� ���
�
��� 1�2	�6
���� � �
� F��	����

�
G
7�
�2��O ����
�
��� ���	�� 1�������� 7
�/ 1������� 1����	�

 ��
�
�
��� �
�C�
�
��
� ���
2��
���������5 ����C
���5 ���
����

� ����� �
	
0 � ”
����� ��	����

�
” ���
��

�� ��
	���
 7�
��
2����
	
��
 F��1���
� N ������������
 1�

��? 1� �
	����
 1��
����9
2��� 7	
�
���
���2� ��2��	� �	� 1� �����
� ��1�9�� ��
�

�G0 �
� 1����	�

 �1�
�
	�
� ����� ���
��� F���� 

 ������
�GO
� ”
�	�
��” ��	����

�
 ���
��

�� 1�	��� 7�
�2�� 7
�� ���
��
��O ���������� 1�	��
���
 �����
 7��1
���
�
�
�� � ���
�����0 �
�1�
�
	
���/ �	����/0 ���
� ����� ���
����

;�
� 	��
���0 ��2��
 � ����0 ��C�� ��
�
��� ���
��
� �
 
�	��
�� ��1�	��0 �� � ����� ���
�� 
�������2� ������0 � ������� � ���
”
����� ��	����

�” � 1�	���
�5 �1����
� ���
���� F4��
���� ���
�
��

�� 1����
���� 1�
� � �2�	 �
�	��
��� 
��
�
���� �
 ���
��	���2� ��1���	
��� � ��2��

0 ���� ��5
 �����C���
� ���
��
�
������
�0 ��1���	
��
 �
�	��
��� 
��
�
���� � ��2��

 2�����
 �
����
 ������ � �
	����� 7
�2� �
�	��
��� N � �
	����
 ��1�	���O
���������� 7
� ���������5 ��C�� �����	�
� �����0 ���� �����G�

��1���
�0 ��2�� ���
��

�� ��
�� 1��	

� FτG ���� L F	��� 1���
�
��� ����� � 
�� C
 �	� ��
/ �
2��
����
��/ ���
��0 	��� ���
�
��
��� �	� ��C��� ���
��� �
�
	���G0 �

����� ����

�0 �
� ����
��1�	�� � ��
�� 1��	

� ��C�� �����	�
� ����� m ���
2��
�����
������ ���
���?

m = p ·
√( c

L
· τ
)2
− 1 , F"A�"G

2�
 c � ������
� ��

��
�����
 ��C
 ������� 1�����5
 1�����1 �1�
�
	
��� ����� ���

�
�� 1� �
��������� ���
�
���� �/ ��1�	��� � ��
�
�� 1��	

��
8����� ���
�
��
 ��
�
�� ������ �
 ��
2�� ��
�1
����

 ��C�

��5 
�����
� �����	
��� ����� ���
���� $ ����
�50 1���� ���
��

���� ��
�����
� 
�	��� ���
 
�2�0 �
� ������
� ������ ���
���
��	�9
 �
��
���� ������������� �
	����� F�	� 7
�2� ��C�� ���

",!



H��� "A�"� #�

������ ����! 

��
����� �
����� �� �����
�
�����
.��� � ���!����� ��� �����������
�� ��
������� 0����� JS(L�

H��� "A� � T� �� ������ � ���
��� �
�������� ��
�!�� 1KV�K4� @�

�
���� ������ ' ��

������ ����
�! ���!����� � 
���0���� 1/β JS(L�

1�	�����
� 7��
�
 ����	����L
�
�����G0 �
��� ���������� 

 ��
��

���������
�� ����
�
���
 �
�
�������
 ��

���� 1����	�5
 ���
�
��
� ��C
 ��

�������
� �
�
�������2� ��	��
��� � 
2� �2	���

���1�
�
	
��
 �	� �
�
	���� ���
���0 �
� ��	
2��

 ������ ��
��

���������

;�1�	���� ���	���
 � 
�1
 �������
��
��� 	
1
���� � �������
�0 ���
�

�
�
���0 � �
	����
 �
�
��� �������
��
���0 7��1
���
��

�
��� �
�
	�5
 �5��� � 7	
�
���� �
 1�����0 ��1���
�? � ��/
������ 1������56�� �1�������
�0 � ���� 1���
��� 1�

�� 7�
�2��
�� ��������5 �������5
�� ���	����� �������� .�7
���0 ��1���
�
1�� ������/ 7�
�2��/0 1��	
 ���
�
���� ”
�	�
�2�” ��	�
�� �
2��
�
����5
��0 ��� 1����	�0 �5��� �	� �
�
����0 �� �
 1����� 8����
��0 7
�
 1�����1 ����
	
��� �5���� � 1����� �
 ����
���	
�� .��
1���
C�
����/ 7�
�2��/0 ��2�� ������
� ���
�� 
�����0 �
� ���
����� ������������/ 1�

�� 
6
 �
 ���
�2��
0 ������ ����
	
���
�5���� � ������� F1�����G �
 �
�	� 1���
��

","



H��� "A�A� #�

������ ����! 
�0�������� ������ 
� ���
�
!���� 0��
����� 1���� KV�K4 � �� ���!������ �� 
�.��� JSVL� $�
��� 
����� ��� �

����� ���!���� ������ 
��
������ �� 
�0�������� ������

�����
�0 ������ ��/���
��� F7	
�
���
���2� ������0 ��������2�
���	�0 �
������
� � 
� 1�G � ���	�� ���
��
��� �
����� 1����	�5

���
�
���� ��
�
��� �1����
� �
�
���	���
 ���
��� 1� ��������
��� � ���
2��
���������/ 1�����
�/ ���1���� 8�� C
 1���
��5
��
�	� ���1��������� �����

��� �
������

�
�� 7
�
 ����� 1��
��� � �

���� N �
��	�
�
 ���2�/ 	

 �
�

����
���/ ���	
�������0 �������
�� ����/ 1������� � �����
��


/��	�2��� ; �������
0 �����
�
 

/��	�2�� 1��
����� �
���	����


�� 1�
�
����
��� 7��1
���
�
�0 1����	��� ��C��� ��6
�
�
���
����� 7��1
���
�
 
�
��

 
���/ ����/ ���
�
� �


�
���� �	� ���
��/ ��

���	��0 ��
���
 
6
 �
 ��6
�
��5
 �	� 
6
 �
 ���
�2��
�
� �������� 1��������
�
� .�	�����������
 7��1
���
�
� N ������
	

 ����� 1���
� ��K
���
��� � ��1�	�������� � ����� �����
 ���
���
���/ ��	
��� �� ����/ �����/ ��	��

� ������? �
�����0 ���
���� 
�
���2� 

	�0 �����

/����0 ������ ���
��0 ������ �����/


�1
��
��0 

����������� � 
� ��

� ����
�
���� 7��1
���
�
�	���� �����
 ���
�� ��1�	���5
��
���1	
��� �


�
����0 ����
� �
1�/�C�
 1� �	�C���
� �� ��
������
H
�
������ F/�
� 1� 1�����1� ����
� �


�
���� � ������ �

����
�
���/ 1��
��� ���
�
��� �/���
�� 
�
�G� 8����� ��C�� � 
�0 �
�

", 



�
 1�������� �


�
���� �� �����
���/ /����

���
��0 1��	
C��
6�/ ���
�
��50 ���� 
6
 ��

� 1����	��� ���
�� %
� ����
�
���/
�����	�

	���/ �

���� � ��
��
� 7
� �
�����C���

I
���� ����� 

/��	�2�� � �

������ 7��1
���
�
� ��
�� /����
9� ����� �� 1���
�
 7��	5��� 2�����������/ �


�
���� �
 ��

�
���� 3
�2
�� �� ����
�
���/ ”��
���1��
�������/ ���
�” FIH�0
�	� ”cdjb ^_`ab:cd`l :zqj{b_k”G�

H��� "A�B� .�����1��	���� �/
�� ��
���1��
�������� ���
���

$������ ��� �% ������ �� DEF 1�����

�� �� ���� "A�B� .�
��
� �
	�0 ��
���1��
�������� ���
�� �
 �
� ���
0 ��� ���

� �	���
���
���� ������������� ���
�� � �

��� � 1��1�������	���� ���
�
��� �� 

 1���	
��
 �
�	� �����C��� ��
��� �	�2����� ����
�
��
��� ��1�	����� 7	
�
�����
�

8
 ������������� ���
�� 7
�
 �


�
�� ����	
����	 ��
������
��K
� � �

��0 7	
�
���
�
��
��� ����
	�56�5 ��
������ ��K
�
� ���� �
2��
����� ��2��	� F���� "A�BG� >	
�
���� �������������
2� �	
��0 ������9�
 ���	� 
��
�
���� 1��9
�9
� ����C
���� ���
�
���0 ��
���5
 � �

�
 � 1��
������ ������
�50 �
	����� ��
��
��� �1�
�
	�

�� ��1��C
����
�5 7	
�
���
���2� 1�	� � ��
����
��� ��K
�
 � �����
���� ��1�	��56
2� 7
�
 ��K
� 2���� >
� ��
��
���
��

��0 �
� 1����	�

 �1�
�
	�
� 1����	���5 F���	� 7	
�
���
�
���2� 1�	�G ��������
� ��������� 
���� 
�
���

.����� �

�� 7	
�
���� 1�1���5
 � ���� �
2��
������ $�� 1���
��	�0 7
� ���� ��	�

�� 1��1�������	���� ���
���� H������ �
C��
������� ������
��� ��
���1��
�������/ ���
� 	�9� � 
��0 ���
��2��������� ���
�
��
 ��
�/ ��������
 1��
���� 
�
�� �� 1	���
���
� �
2��
������

� ������ 1���
�
 7
� �
	�

�� �	
��56�� �������� � ���
 �
�
2��
����� ��
���
�0 ��� � � 1��1�������	���� ���
�
0 �
������

1����	����� >	
�
���
�
��
���
 1�	
0 ������ 1���
��
��� ��������

",A



��� � �

��0 ����
�
����

�� � 1����	��
� F��� � � 1��1�������	��
��� ���
�
G� .�7
��� 7	
�
���� � ���
 �
��
��� ������ �
�������
1����	��� ������5
�� � �
� � ��	��� �

 �������

�� 1��1������
��	���� ������� .�� 7
�� �� ���1�	�C
���� ��	��� ���� �������
1	�6���
 �
2��
����� ������
�� ��2��	0 ��
���� � �
2��
����

�
��� I
� �����0 1� ���
�� 1	�6���� �
2��
�����0 �1�
�
	�5
�� ���
������
� (x, y) ��	��
� 
�
��0 �1��
���������2� �� 1	�����
� �
��
�����/ 1����	��� ��1	�
��� ��2��	� 1��1�������	��� ��	��
�
��
��������/ � 
�
�� � 7
� ���� 7	
�
�����0 
� 
�
�0 �
	����
 �����
��������/ 1�

�� �� 7
�� ����
�
 
�
��� ��
�� 1���	
��� ��2���
	� � ������ 1	�6���� �1�
�
	�

 1����	���5 ��������
� ”�
�
��

�C
�
�” ���
�

�
��56
2� ����
�� 
�
��� ��� 1�	��
���� � �����
��1���
� ���������� 1����	�

 �
 
�	��� �
����
�������
� 
�
�0
�� � 1���
�
� ��
�
�������5 ���
���0 ������9
� �������������
�	
�0 ��1�	���� ���
�
���5 �
	����� ��
	���/ ������������/ 1��


�� F���
���0 
�	� 7
� ���
��� ��


 ������
� ��C
 
��0 �
� ���
�
�

�
��

 ������	���� 1�

��� �� ��������5G�

�� ���� "A�- 1������� �
����
����������
 �
�	���
 ����
�
 ����
����
��
��� ��
���� � 1��
����� � 7��1
���
�

 �� ��
����� 1���
�
 7	
�
�����2� ���/��
���� F'|_dlx�,0 <1����G� #�
������ f}|'
�� 7
�� 1���
 ������� 1� ������
��
 ������� ;��	
����

	����2�
�
�
�� ��
���� ������ FWY)|G ����
���


� 8�����

.	�����
� �
2��
����� F���� "A�-G ����� �� 1
���� 1	��
� ��
�
� ����� 1��
���� 
�
��� �� 7
� 1	�����
�� .������56�� � �
�
��	������
���� ��K
� ��������

 ��	��
� ���1�	�C
��� C�������
�������� ��9
��0 ��
��	�
��� �� ���
�
��55 1�	��
� w|Y� H���
�
� �
�
	���/ 7	
�
�
�� 
�
�� � 1	�����
� (x, y) �1�
�
	�

�� ����
�
��� �
2��
����56
� ��
���0 � �


��� F�

1
�� ��

��
���G �
�
��C�

 �
	����� ��1	�
��� ��2��	�0 ���
2��
���������2� ��
����
F�
� ��	�9
 7	
�
����� ������� ��
����0 

� ��	�9
 ��1	�
���
��2��	� � �


��� ��	

 

����G�

��C�� ������
� ��
���1��
�������5 � 1���������5 ���
��� �
1�����1
0 ��� 1�/�C�� ; � 
��0 � � ���2�� 1�����
 �
2��
����

��
������������� �	
� ����C
���� ���
���? 	��� �
�
� �����������

���	� �
2� 1�������0 	��� 1����� �
2��
����
� 7	
�
����� 7
�2�
�	
��� 8����� ������� �
C�� ���� ��
������ ��6���8�� ���0
���9����� w|Y N �1���	�
���
� F���������� ���
���

�� 
�	��
�� 1�� 1���	
��� 
��22
���2� ��2��	�0 
�2�� ��� 1���������� ���
�
�� �����
���

 ���� ��� � �
���	��� �
���� �
�������� �
 
��
2�0 �	���	��� 	� ��C��
 ����
�
 �	� �

G0 ���
���
��
��
 F
�	� �

",B



H��� "A�-� .���
� ����
��0 ���
2��
���������2� �� ��
���
1��
�������� ���
�
 ��
������ f}|'0 ��������� �	� ����
��� ����
����
��
��� ��
���� ������� 7�
�2�� � 1��
�����0 �
�
������ �
������� � ������ �	���
 �����	��� γp �������
��
����

1���������� ���
�
 �����	��� � ���
�
 �����
������ ��	

 �
��
�
�� 1������/ ���
��0 
� �������
��� � ���
2��
���������� ���
��

������ �
�����C��G0 
�2�� ��� w|Y �1������ ����
�
� 1���
��
�
��� �
1�
�����0 1���
� 1����� ��C�� 1��
���
� 
��0 �
��� �� ���
2��C�	�� 
�	��� 1�����
��� �������
��
���� �����
�0 �

��� w|Y
��
5
 ��	�5 �����������5 
�	6��� � 1�7
��� 7
�
 1����� ��C


��
� ����C
� ���2��� �


�
�����0 ����
�� ����
�
�� � ����0 
�2�
�� ��� �

��� 1���������/ ���
� �	�9��� ”
�	�
�
” �	� 7
�2��

� ���2�� �
�����0 �� �
2����9��� �
�� 1���
����
�
���
 ����
�
9
��
 w|Y ��
�1�

 ����
9
��5 1���������/ ���
�� � 1
���5
��
�
��0 7
� ����	��	
�� 7���������? ���	�� ����	�� �
2��
�����
� �/ �
�����
�5�

����
�
���
 �


�
��� ���
�� ������
�
�� ����	��� 1�������
� ���2
 Q+BR�

",-



���� -��#
�>�� ���������	� ��	�����)

��� ������ ���&��	������� &"���

� 1��	
���
 ��� �
��
�	

�� � ��
���� �����
0 ���
�� � �
	��0
1�����9	� ��	���
 ���
�
��� � ��1���	
���/ ���	
�������� >
�
������� ��� ��
9���� 1�������� F� 1
���5 ��
�
�� N ���
�
���
��� � 

/��	�2��/0 �� ��
���
 �1���

�� ���
���
�
�	���� ����
7��1
���
�
�	���� ��
���� ������G0 
�� � ���
�
�����0 ���������
�� � ���9��
��
� ��9�/ ������ � ����/ � 7	
�
�
����/ ���
���/�
�� 1
���� 1	��0 1�

���� 1���	
�� ��6
�
������� ”�
���	���/”�

��
�/
�C
	�/ ��
�0 1��
��	
���5 ��	

 ������ 	

 
��� ����� �
�
9
���5 ����
� �
�����0 ��9	� ������0 ��������
 �� �����
���
�� ��	��� �������
��
��56
� ��

��� F7
� �
 �����

	��� �
6
�
�
��0 ���
��	
���
 
�	��� �� ���	����G 1�� �����	���/ � �����
��/ 1	�
���
�/0 ”�����	����” � ������� 

�1
��
���/� ;���� �	��
����0 ����
��
 ��	��� �������
��
��56
� �������� F$J�G ��

�
��� �
�����
�� 2	����� 1�
��

�� ���	
������� � �����
 
�C
	�/
����� ��
���/ � ������/ 7�
�2��0 �
� �
��C�

�� � ��6
� 

��
��
��� 1��	
���/ �
��
�	

�� � ���������� 1��2���� ���	
������� �
�����
 ���
�� � � ��
���� �����
 1�� �
	�
����
���/ 7�
�2��/�

3	�����0 ���
�1��� ���
 �

�� 7��1
���
�
�	���2� ����
���
��	��� �������
��
��56
� $J� ��

��� N ����
���
 ��
�� .��
7
�� ��C�� ���
	�
� 
�� /����

���
 �
����? F"G ����������

F��C�
��
G 
���� ��

���0 F G 

 7��	5��� F��1���
�0 �
 2����
2�
� 1	�
��2� ���
����� � ����
C
����� � /�	������0 2�
 �C
 ��2�

1����
��� ������G FAG 1���	
��
 �
2��
����
��/ � 7��1
���
�


������� F�����������G � ����
������ � �������5 �	� ��
���5 ���


��5 F���� "A�EG�

8�6
� �	� 7
�/ �
���� ����
����
�5 ��	�

�� 
�0 �
� �� ��C�
��� �� ��/ 1��/���
�� � �
���
C���
�5 ��

� �
	� � 1���	
����
�
1
�
����
����2� /����

��� � �����/ 
�1�/ �
����� 1��/���
��
��

� �
	� � ������� ��1
�
��� 7
�/ 
�
/ �
����� ��1���
�0 � 	5�
��� �
�1��2�� ����
���� ��C�
��
 ���
�� 1����/���
 � ���	�����
����C
���? � �
�	����
���/ ”���
�������
���” ����������
 ����/
���
�� 1����/���
 � ��	��
�0 1�2��C
���� � �����
���� ������0 
��
2�� ��� � �������
���/ �
�	����
���/ ��� 1����/���
 � ��	��
�/0
1�2��C
���/ � ��	��� �������
��
��56�5 $J� ��
�� F2�
0 ��
�
�0

� <������� ���������( � ���/���� (�
����
��$� �
����� 
���0�"� ���&�(
���������� ������( ��������"����"�

",E



H��� "A�E� .�1�	����
 1�
��
��	
��
 ����������� ��	��� �����
���
��
��56
� $J� ��

��� 1�� �
�	����
��� �
	�
����
���/
��
� F���C�
�� 1��
� 1� ��

����� ������G �� 1���
����
�
����
��
�
���� ���2����
� @� ����	� �
��

� ��
�
�� F1������	���G
1����
 ���
�
0 ��2�� 	����0 ��
����56�� �
�
�� ���� �
�	�����
56�/�� ��
� 1
�1
�����	���� 	����0 �� ��
���� 	
C�
 ��1�	��
����2� �� ��
�O ����	� �
��

� 1���
����
�
���/ ��������
 ���1��
��

 � ��������
��� 
���� �����	�9
2� ��	�C
��� �
�	����56�/�
�� ��
� F�	� ����

�����2� �
�	����
��� F���������
 ����G ���
���1���

 � ��������
��� �
�
�� ���� ���

�� ���/ ��
�G�

�
��
���
 �1��
���� ����9
���
 ����

��� ��2�
 �����
��� ����
�
����	
�����G� .�7
��� ���
�
��
 �����
� ���
�� � ��
�
 �
����
��
�� � ���
��6

 ��
�� ”2����
�” 

��� F��2�
 ��
� ������� � /��
	����� � 2����
�0 1	�
��� � ����
C
���� ��

��� ��� �
���
����

������� ���
��0 
�� � �1
�
�� ���
�� �U�	� 9����� �
��������GO
����������� ������� F������� ���2�
�
����G �� ���
���� �
����
7��	5��� $J� �
6
�
�� 
��C
 1����/���
 � ���	����� ����C
���0
� 
� �� � 
� 1�

;���
��
 ��	��� �������
��
��56
� �������� F$J�G ��

���
1�
C�
 ��
2� 1�������
��

 ��
����	
��
 ���2���� ���
����� F���

",+



����/ ���2����G ��
���� ��

��� � ��/�C�
��
 2�����0 ����
	�5�
6�/ �����
 ���� F
� 
� 2�����0 2�
 1����/���
 ������
 1
�
/��� N

�	� ��� ����6
 1����/���
G�

��2	���� ����
�
���� 

��

��
���� 1�
��
��	
���� �C���

�
��0 �
� ��6
�
��5
 �	
��56�
 ���	����
 ���� ��	��� �������
��
�
��56
2� $J� �
6
�
��? �������
 �
6
�
��0 1	�
��
 ��������

�
6
�
��0 ������2	5����� 1	����� �1�	�
 �����C��0 �
� 
�
� � ����
2�
 �����

.�� �����/ 7�
�2��/ ���	
��

�� ������� ��
���� ��

��� 1��
�����	���� F�	� ������G 1	�
���
� � 

 �����
��
 ���
������ ���
���2� /�C
 ���	
������ ��	��
� ��	�9�/ 1	�
���

� �U�	� ������/


�1
��
��� ;�
��� 7
� ��	��
� ��C

 ��
� 1��6�1��� � 1���6�5

�C
	�/ ����� ������/ 7�
�2���

8���� ��
��2�56
� 

��� �
2���� ��	�

�� ��1��� � 
��0 ��6
�
�
��

 	� /�
� �� ���� ���
��
���� 
���� �� ���2����
 ���
�����
��	��� �������
��
��56
� �������� F$J�G ��

����

���2��0 �
 �
�

 ��

�
����0 ��1��� ����	��	
� 

�0 �
� 7��	5�
��� 2����
� � 1	�
��� �������� ��

��� ��C

 ���������
��� �
��
��
� ”�����
�����������” ��������� ��

���0 ���2�6
���� 2�1
�
������ � �
������� �
������� �
���	�����56�� ��	� �
������
�
� ��
���� ��

��� �
2���� ��	�

�� ����� �� �����	

 ��

�
���/
� �
 �	�9��� ���	
�������/ 

�O ����� 1���
� ��5
 �
�
�������
��
����
 	
2���9�
 2�1
�������

�����
�0 �
���� ��

�
�
� � ��1��� � ����	���� �
���� ����
��������� ��	��� �������
��
��56
� $J� ��

���0 2�
 ���

��5
��	� ��2�
 �2��
� 7	
�
����2��
��
 �������
��
��� F����� �����
��2� ������ �
�	����56�/�� ��
� � ��	���� ��2��
��/ ���
�
�� �
���	����0 ��� � � ����
�
�
�
��/ �������G� .� 

��

��
���� ��
��
���0 ��1��C
����
� ��2��
��2� 1�	�0 ��1���
�0 � ��	��
� �
�	����
�
��� ���� � �����0 ��2�
 ���
�2�
� ������6��/ �
	���� F�� 1��
�� 1������� ��9
0 �
� �� 1��
�/���
� 
� �� ��2�

����G? 1������
1017 2����� >
� ��C

 1������
� � ��

�
��
�9�� � �
�C�������
���	5��
��� 7��
�
��0 � 1���
����
�
������
�
���5 ���2�����
���� "A�E ��C

 ��
�0 �	
��

 1�
��
��	�
� 
��0 ��� ��	� 1�������
�� ����  �"!�

;
��0 7��1
���
�
�	���
 ����
��
 � �������
���/ �
�	����
���
�/ 2����
� � 1	�
���0 ��	��� �������
��
��56
� ��

��� � 1������
��2��	�� � ��
9����� ���
 � ���
��
���� 
���
 ���

 � �	�C���
9

 �
��
�	

�
 2	����� �
��

2��
���� ��1���	
��
� � �����


�C
	�/ ����� ������/ 7�
�2��� .�7
��� ��C�� �C���
�0 �
� ���

",,



�
2����0 
�� � � �	�C��9

 ��
��0 �����
�
 ��
���� ������ ��
��
��/ 7�
�2�� � �
	�� ���

 �1�
�
	�
��� ����
��� ��� �	
��56���
1���	
�����

• �����
�� ��
���� ��

��� 1�� ������/ 1	�
���
�/0 �����
��

���
������ .����	
��� �
���	����/ �

1
�
� ������� ��
��
��� ��

���0 � 
�� ���	
 N ������2	5����/�

• .���� ������/ 1
�
/���� � �����C��� ���
��
���� 
����
�� ������� ���2����
 ��	��� �������
��
��56
� ��������
��

���� .���� �����C��/ ��2��	�� �
��������
�
� �U�	�
����
����	
��� ����	���� ����

���� ���2�
 

��

��
���

���
	�0 ��	5��� $J�������	
��� �� �
9

�
0 �������5
0
�
� � ��	��
� 7�
�2�� F� ���

�
 �
�
�� ����0 � ����


 ��
���	��G

√
sNN = 4 − 9 37� �	� �
�	����
���0 ��1���
�0

Au− Au �	� U − U 0 ��C

 ��/���
��� ���
��
���� 
���� F1�
�����
� �
�
 � ����G �	� ��	����������
��
��56
� ����
����
/�����������
���� ��

����

• �����
�� 7	
�
�
����/ ���
�� � �
�������� � ��
���� ��
�
�

• 8
�	�� ��
���2� �
6
�
�� �� ������
 �����C�
���0 1�����
	
��� ���
�
��
� �
���
��� ���
�� 1�� ��	�/ ����
�����/
�
C�� �����

• ”>���
��
���
” ����0 � 
�� ���	
 � 1��
�C
���� �
�
������
F�	� 1��
�����G ���	����� � 2�1
������ QE"R�

• H
	�
����
���
 ���
����
 ���

�� � 1���	
�� �/ 

��

��
�
���2� �1�������

• ��
�� ��1�����0 /����

���/ �	� 
����������� ��
���� ���
���� F�
���
��� ��
� � ��
���� ��

���G �������
 ���	
�����


	
� ����
��
��
�� �
2���� �� �	
��56�/ ��1���	
���/?

= ;���
��
 �
/������� ����������� ��
�/
�C
	�/ ��
� �
�����
� 7
�/ ��
��

= H��1�
�
	
��
 �
6
�
�� � ����/ F1��
����0 �
�
�����GO
�
	
�
����
 �����C�
��
 �����
�O ���1�
�
	
��� �����
���0 ���1�
�
	
��� 
�����

= �
/������ �����C�
��� ��
���/ �����
�� =������ �
�
�	��� �� �����
 
�1� �����C�
��� ������� 1����������

",*



• <�
���
 ��	� 1�� ”��
���/” � ”��	�/” ����
�����/ �
C��
���	������ �
/������ ��C�
��� ���
�� F�
�����0 ��������G0
��		
�
����
 F� 9������ � ����� ����	
G ��	
����

• �1
�
�����1�� 7	
�
�
����/ ���
��O 7���
��
���
 ���
����

• ���2����	����
 �������
��
��� � ���2����	����
 F� 1
���5
��
�
�� N 
�
/���	����
G ��	��

• �
/������ ��C�
��� ���
�� ��	��� �/ 1���2��� �

��	�2��
�
���
 ������ �1�
�
	
��� �
���
��	�2��
���/ ����
��
0 �
���
/�����/ ��� �	� 
����������� ��
���� ������0 
�� � �	�
������ ������/ 7�
�2���

$ �������� ��%� ������� ��� ������' 3���!��';

����
�
���� ���
�
 ��	��
�
�� ���C
��� ���
�� � ��
� F�1��G
��	�

�� ����� �� �/ ��C�
�9�/ ������
�
�	���/ /����

���
��0

���/ C
0 ��� �����0 �����0 �

���
�0 ����1��0 �
������
� � 
� 1� ���
	� �� ���	��� � 7	
�
���� �
 ��
	� �1���0 �
 ��	� ��0 ��1���
�0
�	�C��/ �
����/ ��
� � �
���� F���
�
���� ��1����
� � 1�����1

.��	� � �
�
��
���/ =
��� � %��
�>��9

���G� �
 ���	5�
��0 �
�
��
��� ��	
���0 ����	��	
���
 �1���� 7	
�
����� � ��
�0 ��
	� �
��
5
 �
9�56

 ����
��
 �	� ����C�
��� � ��6
�
������� C�����

��	2�
 ��
�� � �����
 ���
�� 1�	������������ ��	
���� ��
�
	�	��� ���2� �
��9
 ��������0 �
� � � �
����� �����
 � �1
��
?
��� 1� ���K
�
�����0 
�� � 1� �1�	�
 ��K
�
����� 1�������� >
�
��
����� �������	��� ���
��	��� � ����
 1��9	�2� �
��� 8�����
	���0 �
� 1�� ������/ 7�
�2��/ 1�	�����������
 7��
�
� �
 ���
�
��5
 � �
 ��	�0 � ����� �� �
�
��	���/ 1���	
� ������ ���
��
�
�	� 
� �� 1���	
�� �1�����2� �������0 
� 
�
�0 1���� �
�

� ��
��1��� � 1����/�C�
��� �1��� ���	�����

H
9�56�5 ��	� � 
��0 �
� � 7��1
���
�
�
���0 � 

��

��� ���
��
�	��� � ��

�������� ����
��5 1�	�����������/ ��	
��� � ���
���
 ���
�� � ��
���� �����
 ��
���/ 7�
�2�� ��2��	 1��2�
�� �


/��	�2��/ 1��2�
��	
��� 1�	����������/ 1����� � 1�	���������
��/ ��9
�
�� ;�
���?

• %	�2����� �

����
���� � 

/���
���� ���
�C
���� � �����
�
 � 

/���
 ��
������� 1�	����������/ ���
�� �
�	� �����C�
��� ��

� ������
 ��

�������
� � ������
 �

1
�� 1�	����
����� 1������

"*!



• .��2�
�� � 

���� � 1���
��
 7��1	��
���� ������

	
� ��	
�����C���
� �������
� ������

	� ����2� 1���	
��� F� C
�
�
��� ������������0 7	
�
������ �	� �
�/��
��
���� �/	�C�
�
��
� 1����G � ������
� 1�	����������
 ���
��� �� ������/
7�
�2��0 1�
���	
��� �
1�	�����56�
 �
������� �	�2�����
�����


��5 �1������ ��/���
��� 1�	�������� �� ��
�� �����
�
��� F1���
�? ”��������
 ��
���”G� %�	� �����


�� 1�	��
���������
 ���
�
���
 ��9
�� � ����1�

	����� 
�������0
1����	��9�
 ��6
�
�
��� 1�����
� ��

����
� �	� 1�	������
������/ 7��1
���
�
���

• ;����


��
 �1������ ”��������� �1���” � ��9
��/ � ��/�C�
�
��
 ����/ ��

���	�� �	� 1�	����������/ ��9
�
� 1�����
	�	� �
���
� 1�	����������
 ��9
�� ��	�9�/ ����
��� � ���
����� �

1
��5 1�	�������� �����
2� �
6
�
���

� �
�2
0 ”��
	���� �
�” ���	
������� 1�	�����������/ ��	
���
1�� ��
���/ � ������/ 7�
�2��/ ��6
�
�
��� ����� 1� �����
��5
� �����
� 9
�
��
��
�/��
���
��
�/ 2���� 1��9	�2� �
��� I���

���	
������� ���
��	�5
 �
���
0 ��

������ �������56

��0 �
���


2��
���
 ��1���	
��
 � �����
 ���
�� � ��
���� �����
 ��
���/
7�
�2���

���� ?
��@������

��
� �
��	� 1���	
� ������
�
�	���� ��C���
�0 ���
��	�56�/
1�
��

 ������ ��
���/ F�	� 1
�
/����/0 1���
C�
����/G 7�
��
2��� � 7��1
���
�
�	���/ ����
�/ ���
�
 ��
�
�	�� �� 1�
�������
��
 F��� � ����	
 �
�
��
��
����0 
�� � ���

��
��
���� 
�����
�G
�����
0 ����
��� 1�� 7�
�2��/ ��	��� 1���2�� ��C�
��� ���
���

�� �	�C��9�
 ����
�� �
��
�	

�� 2	����� �
��

2��
���� ���
1���	
��
� � ��
���� �����
 �
�����
�� ������ 
�C
	�/ ����� ���
����/ 7�
�2�� � 7��1
���
�
�	���
 ����
��
 � �������
���/ �
�	��
���
���/ 2����
�0 1	�
���0 ��	��� �������
��
��56
� ��

���0 �
1������ ��2��	�� � ������/ 1
�
/���/0 ��
9����� ���
0 ���
��
�
���� 
���
 F�	� 
����/G�

;��	
������� � ��	��
� 1���
C�
����/ 7�
�2�� ��
5
 � �
�


������
�
�	���
0 �� ����
� �
 �
�

 ��C��
 ����
��
 �	� ��6
�
��

��C
 � � ���2�/ �
��9
���/� @�
�� ���	�C���5
 ��������?

"*"



• H���
� 1���	����2� /����

�� �	� ��C� ������ ������/
� ��
�/������/ 7�
�2��? ��	������� �


�
���� � ���2�/
��
����
�� F�5�� ��C�� �
�
�
�0 ��1���
�0 ��	������� 1�	��
���

���0 �������
�� � �

����
���
 ���	
������� �


�
����
���
�� � 
� ��G�

• .����� 1�

� �
9
��� 1���	
�� 
������
���� 7	
�
�
��
F1���	
�� 1
�
����
�� �������
����/ �
/����G? ��
�� ��	��
�� ��� ��1
�
�? 1���	����� � ������
�
�	���� F�
/������
���6
1	
��� ��
�G�

• .���
�
��
 ��
���/ � 1��
����/ 1����� � ���	�2�� � �
���
���
0 � 
�� ���	
 N �	� ������������ 

��1���

.
��1
�
��� �����
�� 7
�/ �

�
� ������ ���� � ���
�� �
	��
��� �1�
�
	�5
�� ��	���
� � ���
����
� �����
�� 

 ���
���
��

�	���� ����? ������

	
� � �


�
���� F��	5��� 7	
�
�
��5 ����
�	� 7	
�
������ �
2��
�����0 ���1�5

���5 ���� � 1��2�������
���
���
�
���� �	� ���	��� �����/ � �����	
���G�

?����������*��� ������ ��6�� ��  ��  �9����� � �����G

#����

	���0 �� �� ��/ 1�� 1����	C�

�� �
������ ���������
� 
��0 ��C�� 	� ��9
�� ����������� ��6
�
�� ������
�
�	����
�����0 /�
� �1�	�
 ���
�
���� �2	��

��� � ����
�
���� C�	�6
0
��
	�� 7
� �����

	��� � ��������0 �
��� �
�

�
� �� 7
�
 ��1���
�
�
���

	����

8�����0 ����C��� 1������
 

�� �
2����0 �
	��� �
 �����
���
��1����� � � 
��0 ��� 1�����
� ”��

��������	����
�” �����D � ���
��� �
��9
��� F�	� ����	
G ��� �
��
��

	��� ��

��������	���0
� � ����� ����	
 ��� ��
 C
 �������	���D $�� ��

��������	���

� �������	���
 ���
����
�� �
C�� �����0 � ����� 1��1�����D

.����	��� ”�

 1������ � ���
� �

�
�
�
”0 � ���������

�
�
�C
����1���	
��� �� ��/ 1�� ��	

 ��	���� 1���	�9���
��� �
������������� ������
�
�� ��9
� �
���� � �	
����
� �/ ���

�� �
�
�
1
��0 �
C
	� �
���
������� ����/ ����
�
���/ �1
���	��
��0
�
	�9�
 ����
�
� �������
 �� 
�0 �
� 7
� ������
�
� 2�����
 �
���
��9
��� ��

��������	���2� � �������	���2� �� ���
�
��
�
1�	�
��
 ����/ �
��� 1� �
��9
��5 � ������
�
�	���� ����
�

"* 



��
 ���� �
���� 1���
��

	���� ��
�
� �?
” ��� �� ���
�
� ��C��� ���
�
�����
� ��
��
�� � ������
��


�	���
 �����0 1����	��� ��� ��5
 

/���� � 

/��	�2��0 ��C��

�	� ��9
� 7���������

I�� �
� �� �
 �����C�
� 1��
�� 
���/ ���
�
����� ��9 ����
2�
�� 6
��� 1���
�C���

 �����0 � 1�
���
�
 � 1��	���� ”8 1�	��
C
��� �
����” � ���
9�
� 2��� �������	 �
���	��� ����/ �����
��/ ������
���

�� ���
�
�0 �
� ��	C�� ��/����
� 

/��	�2��
���
 	��
��
���
$��
���0 �
��	�
�
� ������
�
�	���/ ���	
������� ��6
���
�1�
�� �	� ��
/ �
���� A �� �% � �*� ���*�� �� ���� ����'
������ �����7 �� �' ��� �����%���* �������� � �����0
��������� A4<�:7 � � �! � ��� ���������� ����%' ���0
� �7 � ��������� ������ � � �����������*� � �����; ���� ”

�6
 ���� ��
�
� F�� �
�� 1�
���
�
� =������ �� ������� �� �
�
���
�� A-�� �
C���������� ����
�
���� 1� �����
 ������/ 7�
��
2�� F
� �� H��
�

�����G0 ���
���9
��� � .���C
 � �5	
  !"! 2���G?

”-�����7 � � ��� �� ���� !����%� ��� ����� ��������0
���*�%� ������ ������7 � ������� ��� �������&  8����;”

>
� �����	� 1�	���
�5 ��2	���

�� �� ��������� ���	
����
���

� �1�>:��>>1 )#?@
#?88� ����&���� � ����������� � 8�
!���
��
$� ��$��/

��$� ��������� �
�������� 8A? �� ������ ���������� B�
������� C���$� ����
�� ������
��(�������" �������� .���� *�
��
$�
��

"*A




